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INEQUALITY QUESTIONS FOR BANK PRELIMS EXAMS
(EASY)

guestion:
a) Only I follows

b) Only 11 follows
c) Either I or Il follows
d) Neither I nor Il follows
e) Both I and Il follows
1. Statement:
D>A>C=B>E>R
Conclusion:
1. D>E
1.D=E
2. Statement:
P<Q=S<R>T>U
Conclusion:
1. P<S
I.U<R
3. Statement:
J=K>L>M<N<O
Conclusion:
. K>N
11.O<L
4. Statement:
G<H<I=J<K<L
Conclusion:
5. GgK
1. L>1
6. Statement:
U>V=WX<Y<Z

Directions(1-5): Study the following Conclusion:
information and answer the 1. U>Z
n.zZ>U

Directions(6-10): Study the
following information and answer

the question:

a) Only | follows
b) Only Il follows

7. Either I or Il follows
a) Neither | nor Il follows
b) Both | and 11 follows

8. Statement:
L>D>F=R>V>N<M Conclusion:
. D>M
11.R>N

9. Statement:
X>Y=M>N>R=S>L<E
Conclusion:
. X<E
1.X>E

10. Statement:
E>N=Q>A>R=F<K>C
Conclusion:
I. N<R
I.F<N

11. Statement:
L>R>B=D>F<T<G<V
Conclusion:
. F<R
11.G>B

12. Statement:
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P>T=Q>U=S>R<M<K
Conclusion:
. R<T
n.R=T
Directions(11-15): Study the
following information and answer
the question:
a) Only I follows
b) Only I1 follows
c) Either I or Il follows
d) Neither I nor Il follows
e) Both I and |1 follows
13. Statement:
P<Q=M<N<L; L<H>I=R>S
Conclusion:
1. Q<H
n.L<S
14. Statement :
A>B=C; C>D>E<F
Conclusion:
I. B>F
n.C<k
15. Statement:
K<IST>E; O<R<K
Conclusion:
. R<E
n.T>0
16. Statement:
G=H<R>Y; Y=M<N<L
Conclusion:
. L>Y
.M<R
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17. Statement:
C<L<O=U; U=D>S>Y
Conclusion:
1. Y<O
n.C>D
Directions(16-20):  Study  the
following information and answer

the question:
a) Only I follows

b) Only Il follows
c) Either I or Il follows
d) Neither I nor Il follows

e) Both I and 11 follows
18. Statement:
[>M>N=R<Y>Z=S
Conclusion:
I. R<L
I.N<Z
19. Statement:
H>V<X<T=U<M<N
Conclusion:
. M>X
I.H>T
20. Statement:
G=K<P<Q=R>S>Y<L
Conclusion:
. K<Y
1n.G<Y
21. Statement:
F<X<Z<R<H=T<Y<M
Conclusion:
1. X<Y
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1.Y=X
22. Statement:
N>V=I<S>A<U<M=H
Conclusion:
. U=V
.A<H
Directions(21-25):  Study the
following informationand answer

the question:
a) Only I follows

b) Only I1 follows
c) Either I or Il follows
d) Neither I nor Il follows
e) Both I and I1 follows
23. Statement:
P<Q=S<R>T>V=B
Conclusion:
. P>B
1.P>B
24, Statement:
E>I=0>P>M<N<H=D
Conclusion:
. E>P
1n.M<I
25. Statement:
K>D>E=M>V>N<A
Conclusion:
1. D>A
I1.N<E
26. Statement:
Z<T<B>N>U>0O<P
Conclusion:
. B>Z

1.B>0
27. Statement:
S>D>Y<U<N>F>7<B
Conclusion:
. Y<N
n.D>Z
Directions(26-30):  Study the
following information and answer

the question:

28. Statement:
M<J, J<R, R=K, K>H
Conclusion:
1. K=J
1n.K>J
29. Statement:
N>T, T=H, H<Y, Y>L
Conclusion:
L Y>T
I.HSN
30. Statement:
E>F, F<R, R<P, P>S
Conclusion:
1. P>F
I.F<S
31. Statement:
X<D, D=E, E<H, H<L
Conclusion:
1. L>D
1. X<E
32. Statement:
T=R, R>S, S<P, P=Q
Conclusion:
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1. Q=S
11.S<T

Directions(31-35):  Study  the
following information and answer
the question:

A@B means "A is either smaller
than or equal to B" A%B means

"Ais smaller than B""
A&B means "'A is equal to B

A”B means "'A is either greater
than or equal to B" A#B means ""A

is greater than B"'
a) Only | follows

b) Only Il follows
c) Either I or 11l follows
d) Neither I nor Il follows
e) Both I and |1 follows
33. Statement:
A#C, C@B, B&E, E@QF
Conclusion:
|. CHF
n.C@F
34. Statement:
L "M, M#N, N&O, O#P
Conclusion:
1. L#O
11.M%P
35. Statement:
G%H, H&I, |@J, 'K
Conclusion:
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1. G%J
I 1#K
36. Statement:
Q&R, R@S, S#T, T%U
Conclusion:
1. Q%S
1.S&Q
37. Statement:
VAW, WHX, X&Y, Y%Z
Conclusion:
. V#Y
11.X%Z
Directions(36-40): Study the
following informationand answer
the question:
A%B means "A is neither smaller

than nor equal toB™

A&B means ""A is not smaller
than B""

A*B means ""A Is neither smaller
than nor greaterthan B""
A”B means "A is neither greater

than nor equal toB"

A@B means "A is not greater
than B"

a) Only I follows
b) Only Il follows
c) Either I or 1l follows
d) Neither I nor 11 follows
e) Both I and 11 follows
38. Statement:

P%Q, Q&R, R@S, S*T

Conclusion:
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. P%R
1.RAT
39. Statement:
C@D, D"E, E*F, FAG
Conclusion:
. G%D
1.CF
40. Statement:
XYY, Y@Z, Z*A, A&B
Conclusion:
1. X A
LA&Y
41. Statement:
HM, 1&J, J%K, K@L
Conclusion:
. JOH
1.J%H
42. Statement:
M&N, N%O, O@P, PMQ
Conclusion:
. M&P
n.0"Q
Directions(41-45):  Study the
following informationand answer
the question:

43. If F<J is definitely true, then
FTRJ

e) None of the above

44. If BLX is definitely true, then

a) _S, Z):
b) <, =<
c) >,=,>
d) > < =

e) None of the above
(43-44). Find the appropriate
statement for the given
conclusion

45. Conclusion: R<Q, M>L
a) R<T=M>Q>L
by R<M>T>Q=L
¢) L<M>Q>T>R
d M>Q<L=T>R
e) None of these
46. Conclusion: H>T
a) G2H>I>T
b) H>G=T=I
c) GS<T=I>H
d) >T=G>H
e) None of the above

47.1If “+” means division, “-” means
multiplication,“x” means
addition, “+” means subtraction

then 5- 2x4+3+1="

a) 12

b) 15

o 11

d) 10

e) 02
(46-47). Which of the following
symbols shouldreplace the




Y V1], 49,V -YCont. No. 9826228312, 9630885746, 9074585746

INSTITUTE for- IAS/PSC/BANK/SSC/SI/RAILWAY /CPO/CDS/NDA/NET/VYAPAM & Other Competitive Exams
If Z<Y istrue, then _< < =

guestion mark?

_ a) XZTY
48. If P<S is true, P<Q<R?T=S  XZYT
a) < 9 XYTZ
b) = o ZXTY
¢) = 9 YXZT
d) <
gy > . .
1.a
a) >
D < . true (D>E)
¢) = 1. false
0 < 2.b
e) Eitherborc | false
50. Which of the following is true if y & <
K<L<M=N>O istrue? 3.d
a) L<M 1. false
by K<O 1. false
c) O<L 4.e
d) K<N . true  (G<K)
e) None of these . true  (L>1)
51. Which of the following symbols 5.C
should replace thequestion mark . false (U>Z7)
in the given statement in order to .false (Z>U) here do not know the
make conclusion ‘S > O’ exact relation between U and Z ,
Sdgfllnf-l)t\ell)/:t(r)ug?B S>E and also all the three relations are
a) = given
b) = 6.d
o) < 1. false
d < 1. false
e) None of these 7.C
52. Which statement should be . false (X<E)
placed in the blankspaces 1. false (X>E) Here do not know

respectively( from left to right)? the exact relation between X and
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E , and also all the three relations
are given so it should be (either
or)
8..b
1. false
1. true (F<N)
0.a
1. true (F<R)
false
10.c
. false (R<T)
1. false (R =T) Here we know that
(R<T) so it may beR<T or R=T. So
either or follows.

11.a
1. true (Q<H)
1. false
12.d
. false
1. false
13.b
. false
1. true (T>0)
14.e
1. true (L>Y)
1. true (M<R)
15.a
1. true (Y<O)
. false
16.a
1. true (R<L)
1. false

17.a
. true (M > X)
1. false
18.d
1. false
1. false
19.a
1. true (X<Y)
1. false
20.b
1. false
. true (A <H)
21.d
1. false
1. false
22.e
. true (E>P)
1. true (M<I)
23.b
1. false

1. true (N<E)
24.e
. true (B>2)
I.true (B>O)
25.a
. true (Y <N)
1. false
26.C
. false (K=J) Here we know that
(J=K) so it may beJ<K or J=K.

So either or follows
1. false (K>J)
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217.e
1. true (Y>T)
1. true (H<N)
28.a
. true (P>F)
1. false
29.a
1. true (L>D)
1. false
30.e
. true (Q>S)
1. true (S<T)
31.b
. false
1. true (C<F)
32.a
1. true (L>O)
I1.false
33.a
1. true (G<J)
1. false
34.c
. false (Q<S)Here we know that
(Q<S) so it may be Q<S or Q=S. So
either or follows
1. false (Q=S)
35.e
1. true (V>Y)
I1. true (X<2)
36.a
. true (P>R)
. false
37.e

. true (G>D)

1. true (C<F)
38. e

. true (X< A)

. true (A>Y)
39.c

. false (J<H)

1. false (J>H) Here do not know
the exact relation between H and
J, and also all the three relations
are given so it should be (either
or)

40.b
. false
I1. true(0<Q)




